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2000171(046)

Dip. in Engg. (First Semes/tér)
EXAMINATION, April-May, 2024
(Scheme : NITTTR)

(Branch : Arch., Chem., CWIE CSE, Elect,
EEE,ET & T, IT Inst H)D Mech.,

Metal]urgy, Mmmg, Mining & Mine

Survey, Al & ML, I & FS)
- COMMUNICATION SKILLS—I

Time : Thf ee Hours] SRSy [Maxzmum Marks : 70
g | T [Mmzmum Pass Marks 25
Note : (i) Attemptali questlons ;
(i) Internal choice is given.
Sectlon—A
- 1. Rcwrlte the followmg sentences choosing the correct

form of verb from the brackets (any five) : "3

(a) His use of clauses and connectors (are/is)
| appealing.

(b) All of the labours (zs/ale) tribal,

(c) The caitle (were/was) grazing at the lawn. .

(d) Bread and butter (is/are) my favourite breakfast
(e) Either the sand or the cement (is/are) bad

® ,.E?wh of the b‘oxes (weighs/weigh) ten kilograms.

P.T.0O.
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(21 .
: e) ! 5 (31 2000171(046)
cposition any five) .
2. Fill in the blanks with the Prepositiol ( |
o . the oming. i
% as been ralping - i .
QuW : T e o 1. Explain the process of Communication in detail along
et . .
This bus nev e 15th i h o w
Or

e 8==5,

(©)  India became & fre
Describe 7C7s of Communication.

August 1947- na
@ mawoau of science have 10 study no::wzo;v_% |
it e g 3 . 2. What is thc difference between Hearing and
...... e H,< wecsssssssanneeee HT@ —LwnG:._:m 9 :

, Or

(€) The children are watching th
Differentiate between written communication and oral

next room. "

(f) He prefers to Sit coceeeeesceeee the cmow of the o_wmm. f ey v
. : communication.
3. Insert ‘Some’ or ‘Any’ where :ooomme (any fi <mv 2 , . - Section—C
(a) Put.......... more mangoes in the basket. ~. . e e . i - Y
(b) W baveurs et 0 8080 oo ers NS ok | . y onw Lencho call the ﬁoﬂ office people a “bunc
of crooks” ? 7

(c) The engineer found ............ dumper trucks X O
- standing idle at the site. ) ;_ ;
: CSHE o . What lesson do_you draw from the story “A Letter 10
(d) Isthere ................. petrol left in the fuel S:W ?: God”.? | _
(e) Are there ........... .

ey eeeee SUCh Em:m_% :.ﬁ travel as- 2. Give summary of the story “An Astrologer’s Day”. 8
(f) Thereisnot.: i : , ) o

wiseecorsnnnnnnn. CleTk : .
in the om«_oo Give the summary of “The Selfish Giant”.
Section—D

4. Fill in the blank with suitable ‘Article’ 33 \, ewv 5
(a) My youngest son s still at seessessenneennes SChOOI |
(b) Heistaking................. history oo_E,mm |

“(¢) Mysisteris............... student of nsm_soo::
(d) The teacher mmxon me to read m

1. Answer any \, jve questions in one or two sentences
10

each :
(a) How does the scientist get his special words ?

v fiSt g ~(b) What are the renewable sources of energy ?
: 3 (c) In what area has India done pioneering work ?

chapter for tomorrow.,

(e) Psychology is i

) S W 4 H.:o:ow. | (d) What are the two basic components of the
‘ ent of India visiteq :u&og&wm S ‘

P.T.0O.
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(e) What does the terin “biosphere” describe ?

(f) Whatare effective leaders ?

Match the following list A with list B s
List A List B

(@) Top g Combustion

(b) Slanting Roex .- e

() Upright Horizontal

(d) Flat . - Oblique

(e) Act of burning | Vertlcal

Fill in the blank w1th appropriate forms of the
following words. » = SEE T D

(Sumval, Pollute, Erosmn, Transformatlon Expert,
Locanon) :

(@) Matter cannot be changed A carpenter at the best
MY ....covvee.enn. WOOL mto piece of fumlture
(b) Land around ariver s ................ by its water.

(c) Fora business to flourish, it must bc ................. at
a good place.
(d)

In these days of hectic: competition only
enterprising businessmen can .........

AL ARLRY] L]

(e)

Industrial wastes from the Barauni refinery

discharged into the Ganga caused ..............
its water., , .
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2000172(014) ,

Dip. in ang (Fu‘st Semester)
EXAMINATION Aprll-May, 2024

(Scheme NITT'I R)

(Branch : Chemn., Cnvnl CSE, Elect EEE,
ET & T, IT, l-nst, Megh_ . Metallurgy,
Mining, Mining & Mine Survey, -
Al & ML 1 & FS)
APPLIED MATHEMATICS—I

Time : Three Hours ] 4 . _[ Maximum Marks : 70
[Minimum Pass Marks : 25

Note : All queétions are compulsory.
| UNIT—I
.- (@  Ify .- ' | for < | -

ENoe
NN

L N
| S |

P.T.O.



and [2] © 2000172(014, (31 2000172(014) ,
Or 77:/\* Lf._
. w,n \‘r 2 212 (b) Solve the system of equations by using matrix N m
L1 2 RL method : 6 10
verify : , . 2x+5y =1
. o . Lo 3x+2y=1 %
® @y=a | UNIT—11 m.
o A B) =(A) +(B) . If cosx u\qu x lies in the third quadrant, find W\w
: Or : ., " the values of other five trigonometric functions. vv w
= . : [ . . ’ 24
Evaluate the determinant: o el b@) Q) Prove that : 3
: - = 28 ..w ‘... & ; : Sl ; A . i . 3sin .m. wOOA..m. |Pmm=hu\qﬁ.dnon.mmm/w"~ ,..T\\
I &l .4, o o w . : \ 6/ .- 3 6 A T
% au 53 Ea i . (i) Findthe value'ol sin CmJ.. 3 J K
- S e e 10) Solve : 6
i 3 s B B | 7 ,w.o,o%C&+um§Huo ) m
A=t 3 : . RTINS+ | , Or
114 ‘ . gl |
. B " Fi £ tan| — |-
sl | ; | . Find the value 0 g )
- .. i ““ 1" Find the point at which the tangent t0 the curve :
) B=| 1-2 | - | e
" then veri i ol
. then verify that (AB)~! =p-14-1- has its slope % -
, P.T.O.
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T ———

14
amu 2000172(0 ) :L:_.L des
UNIT—IIIL Or
N
3. (a) Find the slope of normal and equation of slope of If the angle between two lines is W and slope of - [ 10
. normal of curve x2/3 +y3 =2at(l, ) 8
. I
‘ . fines 1S —,
(b) Find the maxima or minima for the function =g onc of lines 15 -
.\ (x) =3x* +4x3 -1 2x28+12 . _ (i) Find the slope of the other line. -
s O, | , 3 (ii) Find the equation of the line through (-2, » \
r ) _ : %
‘ . ! . ith slope — 4- |
'Find'points on the curve : , 8 : o ) oh the i
. £k , . | (i) Write the equation of the line throu .4
. N N | . y n
x= Yy . ! . {
|Ml+mw. = e o ! Uomﬁﬁw C& — wv and ﬁwu m,v‘ i
. : 3 GO j
) g L . . ., ) ) Or /
at which the tangents are : - . S | sinates of
i . ’ ’ ; ,, ’ L4 ¢ co-ordinates
(i) Parallel to x-axis | () Find cocentricity, latus rectu is of
‘ PR T S jor axis leneth of minor axis O
Gii) Parallel to y-axi | | © foci, length of major &5 FEEET 7
ii) Parallel to y-axis ; i N . .
- i ellipse * -
- :‘— —Ilu | Y
i ) & H o . : J_ MWI+IV\\N| =
4. (a) Findtheslopeofthelines: . - 7 .25 19
: <\
@) Passing through the poinis (3,.- 2) and | UNIT—V
| 4

-L4)

-y v . . - nm—- ?ﬂ %@

.e . . W
(i) Passing through the points (3, — 2) and
A‘Ng.le B

1
- iy '
’ ;

,

* ! L . - E
#, . following data :
|

| P.T.0.
m

_ﬂ

{
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Marks obtained Number of Students , 7] 2000172(014)
10—20 > -1 | (b) Find the variance of the following data : 8
20—30 . 3 | 6, 8, 10,12, 14,16, 18,20,22,24

| Or

30—40 ]
: | , . Calculate standard deviation for the following
40— R A g | data:
50—60 3 | ,
60—70 3 |
- 70—80 2=

Or

Calculate the mean deviation about median for

the following data :

Class T Frequency

0—10 6 _,n

10—20 7

20—30 5 ,
30—40 | SUIR = |
40—S50 ‘g |

s0-60 | . 2 |

) S ~ 1000172(014) :
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2000178(011)
Dip. in Engg. (Flrst Semester)
EXAMINATION, April-May, 2024

(Scheme : NITTTR)

(Branch : Metallurgy/Mmmg/Chemlcal/
Mechanical/ Al & ML, CSE,ET & T, IT,

Inst., I & FS & Lat. ITI)
APPLIED CHEMISTRY

Time : Three Hours | PR [Maxtmum Marks : 70
- g [Mlmmum Pass Marks : 25

Note All questlons are. compulsory, unless méntioned
otherwise. In case of any doubt or dispute the
Engllsh version question should be treated as final.

wﬂmaﬁmﬁ% mwﬁﬁ?ﬁéﬁsﬂﬂ%ﬁuﬁﬁﬁ

m§|WﬁW$WmWﬁmﬁ
ﬁaﬁvﬁwemaﬁmﬂwml

1. Solve the following :

ﬁmﬁf@amﬁmaﬁﬁq

* (d) What is the value of charge/mass of an electron ?

2
@ 9.57x10%C/g

P.T.0.
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| [21 2000178(011) ° . [3]
Gy . waxSmO\m ireeraeansey Ao Ui i (c) The value of the four quantum numbers of uhm
(iii) 9.57x10%C/g : , electrons is . 2
(iv; . . N n=l,l=0,m=—-1s=+12
wm.wﬂMo% o feabove | Mvv 3,1=1 0 12
%m:@ﬂ iy n=3,I=l,m=Y,5="
\mﬁﬂ ar @laﬂ: _
) @ 9.57x10%Crg i %ﬂmv | (iii) n=2,1=1,m=0,5=-1/2
x10*C _ ‘
¥ s \m <F -~ (iv) n=3, ]=0,m=0,s=+1/2
() 1.76x10%C/q i |
. 85 eit %%%ﬁﬂﬁ@%ﬁﬂm
i) 9. 4 : T
» 57x10 Clg ; WERE g5 , ) n=1,1=0,m= —1,s=+1/2
1v ﬂwdwnmﬂ. ’ | B :
as A ) @.@ﬁwﬂqﬂ% i B Ve ad S i (i) n= =3,l=l,m= 0,s=—1/2
€ correct Qon:.oEo ooa. NI . (iii) n= 2,1=1,m=0, s=—1/2
atom is : 1guration of .E.:ommn il G V 3,120, 0.s=+172
' ] v n= = m= S=
(D 1s5% 252 2,2 T 2 ,
i » 28, 2p o (d). ,:—o cosm mo::a in hydrogen uEE:am molecule
(i £ (o , : (i) " Ionic bond
1 - Fy el gy : ;
) 157 ,2s%, 2p* (i) Covalent bond
(iv) 152, 25!, 2 | . (iii) Co-ordinate bond
TR T 7T W g i fi (iv) Hydrogen bond’
. i Wt g | ﬂﬁﬂ%éwﬂﬂm@ﬁw
@ _.w.w,w.nm 252 : . -3 i Lol
»2p : G emfFees - -
ii 2 52 . 5 ,
W 1s%, 242, 23 * (i) T q6 ¥ :
W) 152,242 5,4 R M . __,a.vaﬁmﬁ%_aﬁ
W) 12 5 2 . _ | m - (iv) ETFRIOH T
-] _
N : P.T.O.
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e) Whi )
Sy :_o.r of the following groups of molecules has
only ionic bonds ? N

(i) HF, HCI, H,S, NaCl
.Q_.v HBr, HCI, CH4, NaCl
(iii) H,O, HCI, CHy, CsCl
(iv) NaCl, HBr, CsCl, HF
%i%@éﬁ%%&ﬁ
¢ U7 T & 7
() HF, HCI, HS, NaCl
(i) HBr, HCI, CHy, NaCl
(ifi) H,0, HCI, CHy, CsCl
(iv) NaCl, HBr, CsCl, HF
(f) What is Heisenberg’s _Soo_..Sm:Q principle .w 2
TIgET @1 JEdal Rigid T & ? ..
(g) Define hydrogen bond and give examples . 2
BIERIS 9 31 IRAIT &Y Serervr 4 |
Or :
(sreran)

Solve the following :

frfefaa @t g 2o :
(a) What is a
quantum )
quantum numbers. urnheess Explain all the
7

m.w—ﬁmﬂaa_ .@N@w«vimﬂg ﬁg@w

2000178(011)

(51
(b) What are ionic bonds 7 Write the properties of
ionic compounds and the factors affecting the
ionic bond. 7
sy @ fard @ad @7 e afe & T
i arafE & A i @Y el PRD B
ffad |
7. Solve the following :
Ay @1 & AT -

(a) The unit of measuring hardness of water is not : 2

(i) mg/litre

(ii) Degree French
(iii) Litre/kg

(iv) Parts per million

.%%%ﬂ»%ﬁmmﬁw“

change resins ?

following is anion ex
2

(b) Which of the

(ii) Amine formaldehyde resin

_ﬁ (i) Sulphonized coal '
(iii) Tannin formaldehyde resin

(iv) None of the above
P.T.O.
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[61 2000178(011)

w%@@m # 9 s Ao Rf e

@)  ERIIPT Pl

i) ofiT wifesares Mo

Gy <P whfvserse R -

v) SEmi v e

| sr_..@:owq_ﬁ._a
a7

s

Neoprene
following ?

is Y bﬂ—%&,_mn of

"o

(i) Ethylene

(ii) Acetylene
(iii) Styrene

(iv) ‘Chloroprene

%w_ﬂﬂ_@@mi@.ﬁfﬁiv
G SR

(i) THIfeefr

(i) BT

(iv) - TR

MSSH is called a .mo_%.:on Write the m_mwﬂozom
etween additive and , - . condensation '

polymerization.
; 3

mmmﬂim&»mv%zﬂa
%w%@@f :ﬁﬁmﬂﬂ

-

2000178(011)

(71
Explain in detail the EDTA method of
determining the hardness of water. 5
gﬁ%aﬂﬂaﬂaﬂaﬁw« & & v fafy o
g A calvid
Or
G
Ilustrate the ion exchange method of softening of
water. ¥
Ecica sl & e R R & akE
g Bt |

~ Solve the following :

w_ﬂ_w_@m B gl DIV j
ozn.:&?& is:- 2

(a) The unit of mnEé_na c

G Qem” on,
Qc _ DLoEJg.n@

(i) Scm’eq

-(@{v) - moB on_ .
qgeura! Areiddl Bl nma g
i Q cm’ 2eq

(i) Dl_oBaNmn
(iii)y Scm’eq

(iv) woBNaaL



o181 2000178(011)
(b) Ina mS.:ama hydrogen electrode, the electrode is
placed ,_.= a solution of ........... molar HCL. 2
i 0.5 |
(i) 1 )
(iii) 2
(i) 3
A BIERoH gelagis H, ﬁﬂw P
LIk HCL & ®iiel  ¥& Wil 8 e .
(i) 05
(i) -
(iii) 2
(iv) 3

(c) Which electrolyte is used in lead-acid cells ? 2
(i) Conc. HCI _
(i) Conc. H;S04
(iii) Dil. HoSO4 :
(iv) Noneoftheabove - \
Je-thie ¥ F P wmm SLELE mﬂ?
- fpar wmaT & ?
() = HCI
(i) A= H,SOs
(iii) 9 H2SO04

vy ST W P

[91] 2000178(011)

(d) Write notes on any (wo of the following :
] (i) Electrical insulator 4

(iiy Calomel electrodes
(iiiy Dry cell
prfoRea # R 4 7 W feaferat e -
i) fgd ufrEe
(i) Dol FAIIS
(iii) @Q |

w 4, mo_<m the .qo:oi_sm

| e @ gl A

Amv Which of the following is no

v

t an ore of iron ?2 2

i) EoBmEm
(i) Siderite
, ) (i) Strangite -

(iv) Cerussite

.?@?Z%%ﬂ%ﬁ%%

P.T.O.
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(b) The mai .
main constituent of a duralumin alloyis: 2

(©)

RS
BN

(i) Iron
(i) Copper
(iii) Aluminium -

@iv) NSo

@%ﬂmw_m T o ge mmﬁw

(i) MRA

(i) PN

- (i) gegfAfEn

(v) i@
Whi i

_o.w of the following concentration ioﬂrom is -
used in cooper metallurgy-? i 2 |

(i) _ Gravity separation method

(ii) Magnetic separation method R

AEV mnoﬁr floatation method
(iv) None of the above
frfRe d ¥ @A
Higol EE ﬁﬂ
g § ST Bl © 7 ¥

@) o g faf

(i) DI JATH fafy

(iiiy, T e fafr
A—<v %ﬂﬂﬂ%ﬂ_ﬁ

-

[111] 2000178(011) ;
e St

d i ;
(d) Explain the metallurgy of iron with diagram. 8
wﬁﬁ & arqed o1 e v HIT
) ol rl. ; 23 «( Q‘. i/
_ (gera)
mxv_m_s :_o BoS:Emw of copper with Emman.

/
e

el

/

5.8 H;_.woZm So »d:oi_:m

b calorimeter method of

Amv Explain the bom
~ determining | the calorific <mEm of fuel at the : \
8

following ﬁo::m :
@ Theory

(if) Structure
(iii) Mechanism

.cé Calculation

fractional disti

S
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[12])

Or
(arra)

te and ulllmate analysis of
e

Write the approxima

coal. ‘
PRI 1 Fie qa aifor f&ﬁm" ferfg
types are it ‘7

(c) What is a lubricant ‘7 How mdrly \
Write its principle.

ﬁszﬁ'cfm%?ugﬁ%aﬁwwﬁm%‘?m
(W) |

~ Write the method of maklng coke by Otto
~ Hoffmann Oven.

mwmﬁ?ﬁmmmﬂwaﬁﬁﬁaﬁ
ferfay | | TN

2000178(011)
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2000175(020)

Dip. in Engg. (First Semester) -
EXAMINATION, April—May; 2024
(Scheme NITTTR) o

(Branch C1v11 Elect EEE Mlnmg &

Mine Survey & Lat ITI)

ENVIRONMENTAL ENGINEERING AND
'SUSTAINABLE DEVELOPMENT

Time : Three Hours | - [ Maximum Marks : }0
| [Minimum Pass Marks 25
Note : All qucstlons are compulqmy, unless mentloned-v‘
otherwnse.i In case of any doubt or dispute, English

. version question should be treated as final.

. P.T.O.



[2] ‘ 2000175(020)

@@%iaﬁziﬂ_sﬁa%g
3 S W B e B o A T

Solve any two of the following : 7 each

‘(@) Write down the physical and _ors,:mmm,_ mSlmmam.

of domestic water and their limits as per Indian .

Standards.

(b) Write and describe the three methods to ‘control -

Air and Water Pollutioneach..

(c) - Write and describe the effects of Air and Water: "

’ w.o==,mo= ,on human health.

o 3 9 o 4 91 7 A5

(a1) %aaﬁﬁzﬂﬁﬁﬁ%%

[3] 2000175(020) -
(@) WY SR e g B P ae @ d e
- P iRy v @ it i

() 0 s e g o s e @
ferfrg 3R avfs ifdre

N_,. . Solve any two of the following : 7 each

.~ (a) .Write and describe the sources of Radioactive

wo::m\oz and its adverse effect.

o

(b) Write and describe the effect, cause and control of

. Thermal Pollution.

(c) Write and describe the effect, cause and control of

.mo: _uo:&mo:.

| e R R @ o) s

(@) e wqur @ W ok S Hvaw I o
" fife ek ol PR

P.T.O.



3. Solve any two of the following:

[4] 2000175(020)

) et s @ s, @ o i 31 R
ok aof AR

(€) ﬂésaﬁa%%mﬁsﬁ@@d

. i ol AR

7 each

(a) Write and describe types of wmoammw Energy

Sources. Write the types of Biomass Conversion

Process and explain any o7 of thent. -

(b) Write down the advantages and limitations of
wind Energy-
(c) Define the following =

(i) Sustainable Development

«

(ii) Renewable Energy

(iii) Hydel Energy and its-advantages -

4.

[5] 2000175(020)

iR 4 9 Rt 2 7wt A :
(&) i st vl @ yaR fRag o ST qoi
 Pfre | qriR B afear @ weR fre
%ﬁﬂ@iﬁﬁﬁiﬂ_
(@) ﬁm@i&%%%&@@f
(6) FreferRae ot o B -
o R
iy e st |
osaﬂm@mi%mﬁ%mﬁ

Solve any fwo of the following : 7 each

(a) Explain the wvarious steps ‘of Environmental

Impact Assessment.

_(b) Write down any one case study on Environmental

Impact Assessment.

_,A& What mm,.mssazao:a_ Impact >mmnmmBn=~m@
Write the “benefits of Environmental Impact

Assessment.
P.T.O.

=



- [6] 2000175(020)

, . i&ﬂ,@m%“ - [7] . 2000175(020)
FrafofRen 3 ¥ 12 | Lo PR 9 Bl @) e e

() ARy e e @ R ol @ e

@%@&ﬁﬁg%ﬁwﬂmﬁ%%

BT | e

L@ﬂﬂ%%%ﬂmﬂﬂ%ﬁ. | _ () W9 WRey w® aig el dreRE e wd

@ﬂﬂ@ﬁﬁamﬂmmmﬂww ﬁﬂﬁﬁﬁa (@) avt 9 WO @ AR F qaRY| o9 e @9
< golve any fwo of the following: - Teach ‘

Je

(@) Wriie and explain the importance of ww in Waste

Management.
(b) Write down the effects of Acid Rain, Green mocmo ;
effect and Ozone layer depletion. on human
health.
(©) Explain Rainwater Harvesting. Write the

advantages of Rainwater Harvesting,

- 2000175(020)



Roll No. ..ovennes PR i

* 2000176(022) '

Dip. in Engg (First Semester)
E‘(AMINATION Apnl—May, 2024

(Scheme NITTTR)

(Branch : ClVll/Electncal/Mmmg/EEE/ _
Mmmg and Mme Su rve f;;lngf;;%fé; :ﬁf&T/ ‘
Instrumentatmn ._;}.,I‘ E/ ¥ ey
Archltecture/IDD) ,
COMPUTER FUNDAMENTALS AND

APPLICATIONS

Time : Three Hoursl] a5 [Maximum Marks 70
- [Mlmmum ‘Pass Marks : 23 .

- Note: All questions are compulscry Each question has»
~ internal choice. In case of any doubt or dispute the
English version question should be treated as final.

il v Bl T o 21 SR e A aiaRe
_tﬁmélﬁiﬁwﬂmtﬁﬂé‘s’mﬁmaﬁﬁuﬁ
ﬁmw$wﬁmﬁnwml~ i

P.T.0.



[2]
UNIT—I

- GEE—1)

88:53

1.
Solve any swo of the following : 7
Fretfeiiea 9 fardl @ @1 61 BRI - -
(@ Define co
mputer. Also descri its
e escribe  jts blogy
@.a_wﬁ P UG BT PYer B oo
SIIUM B TN | . by
(b) Defin .

Also discuss different ERL eI Computer,
e.

A y ) ﬁﬁwﬁd =
© D TR W @y =
&momnm Operating system. Discuss i |
0. ; s 1ts functions
gl v
RICT Riee 3 qRig AR
RE R | @ B

2. s =
2 olve any two of the following
' (a) Discuss var; | n |
arious applicafi
. io :
explain  header, s NS of MS-Office, Also

orientation optiop jp MS.W. “5&5 and page
. “word, _

(31 2000176(022) o\
MS-Office P g &1 FEECH LI
MS-Word T Header, Footer. Margin Td Page

Orientation fame AR EEIE

Discuss the following operations in brief from

MS-Word with shorteut keys

(i) Creatc New Document L\
(if) Save

(i) Undo k
(iv) Redo

(v) Search (Find)

(vi) Cut

?.5.558

MS-Word A ffarad frari @1 g #

shortcut key Gii1 RIS

(i) T 9 Create O

(if) Save

(iii) Undo

(iv) Redo

(v) Search

(vi) Cut

(vii) Paste

P.T.O.



[4]1 - 2000176(022)

i 022
(c) Discuss the following terms in MS-Word : [5] 2000176(022)
. s
M Digg sctup , b) Discuss steps to create worksheets. Also discus
i Mot | A steps to enter data into worksheet.
A—:v I%UQ.—:\__A . | ﬂdw.wﬁﬂ m«v— create % N.VJ‘ :_ mvv_.

(iv) Spelling and grammar check
(v) Mail-merge

i) M
?w acros (©) Disouss the
(vii) Bookmark . ol g syntax and example :
Zwioaww_ﬂ@@dﬂﬂﬂgﬁ

| | @) SUMO)
(i) Page setup : . | _ i Qa ENOU.GO\_A )
(il) Watermark .

- (i) MODO)
(ili) Hyperlink cét om0
(v) ABSQ)
(vi) SQRTO)
i) MIN() _ | |
M_ﬁw_@@d G Bl MS-Excel ¥ syntax Sd

AﬂAs wo_ g 21 worksheet # data Pl enter

_ oy W args |
& B sl 6 Exeel it

following functions 1

‘Qé Spelling 9 grammar check
(v) Mail-merge
(vi) Macros
(vii) Bookmark
UNIT—II

ST afed ﬁdﬂ_md :
(§PR—m) , G SUM()
3. Solve any two of the following : 7each . _ (i) PRODUCT()
Eﬂ@@mw@iﬂm&g&__w_a |

. (i) MOD()
(a) Discuss electronic spreadsheet. Also discuss “(iv) ROUND()

Row, Column, Data, Cell in spreadsheet.

, S (v) ABS(Q)
gadeie Bisdic @ I9Eisy] 9T & 9 _

; : (vi) WOW.HAV
Row, Column, Data, Cell &I I {15V | ?: y MINO :

p.T.O.



(6] 2000176(022)

UNIT—IV
(§Fx—1V)
4. Solve any two of the following :

(@) Discuss the features of MS-PowerPoint Al

7 each

&.mozmm steps for creating blank presentation.

MS-PowerPoint &I wm,ﬁmzm qdigy| ﬂ:ﬂ |

w_m.zw Hun.omnammos Create P D steps Wa@f
(b) Discuss the following ﬂo:wm : 3

(i) Skhdes |

(ii) mu.ow_nn_um E.:om

(iii). Handouts

(iv) Outlines

(v) Place holder

(vi) Slide master

(vii) Slide show

formfoaa Tal 31 ¥Ry :

(i) Slides

Y Sneaker’s notes

(71 2000176(022)

(iii) Handouts
(iv) Outlines
mé Place holder
?U Slide master
(vii) Slide show

(c) Fill in the blanks in the following *

@@ In Zm-woim%omnr
ing for the slide .eeeeerer -

the designs regulate the

layout and formatt
lace holders, templates,

Qw_covlnr p
. design plates)

GU Which of Eomm.woém%omg features would
_ m?nn. simple

allow any user to create 2

quicKer -wemseeeee 2

CPEBm&oP transition wizard, chart
ard)

wizard; autocontent wiz

ﬁnommawmo:

um zoom percentage in MS-

(i) What is maxim
o (100,300,400, 560)

woim%oma

sentation, if we want to

@v) In current  Pre
an choos€ which of

w slide, we €

hESE wemsereresss™ ?

(Ctrl + F,Cul +

jnsert a ne

U, Ctrl + M, Ctrl +N)

p.T.O.




2000176(022)

[8]

fers to the PowerPoint

v) Which of these ¢
in only the text (title

view used for display
and bullets) ......eoeeeers ?

(slide sorter show,
view, notes page view)

slide view, outline

(vi) Which of these is the page setup orientation

by default of the slides in PowerPoint
2 (landscape, portrait, vertical,

essssssscascns o

horizontal)

(vii) Which of these font effects is NOT
available in the PowerPoint font m..&ow:m

box ........
e B (Shadow, underline,

ﬂ:.wﬁ:g:w.: embo
W_« W m " ) SS) -
4 Red wr aR3 - v

(i) In MS-PowerPoi ,
! PowerPoint, the designs Rw:_mﬂ .
yout and formatting for the slide ’ 0

(Bluepri
. print, place holders, templates,

(i) Which of these P, design plates)
allow an owerPoint feat

Y USer 1o creafe ures would

a

presentati . i
fion quicker given simple - |

PYYY
“00004,, V
.

.
? OT

v

Ncco:maouuv

[9]
,om percentage in MS-

iii) What is maximum 7«
0, 400. 500)

(
_.:22_.32 T (100, 30

if we want (O

—:nmm:a:o?
GOS€ which ol

(iv) In current

insert a.new slide, we €an ch

7

.

{ESC evesssssesee”
(Ctrl + F,Cul+ U, Crl + M, Ctret + N)

werPoint

€

W) Which of t

~

P L adad

and bullets) -

rter show, slide view, outline

(slide sO
view, notes pagc view)

e setup orientation

se is the pag
oinnmoEH

e slides in P

ortrait, vertical,

(vi) Which of the

py default of th
? (landscape, P

wo:.NoEwc

effects 1S NOT

f these font
nt dialogue

(vii) Which ©
available in the

DOX cecaransrasesss ?

19<ozuom=ﬁ fo

Amrmm.oiv underline,

strikethrough, emboss)

P.T.O.
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20
[10] 00176(03y,
UNIT—Y & 111 2000176(022)
,m\mmmﬂ\é \ (©) [ixplain the following :
(i) F-mail
wamo: :
(i) MODEM .

the following :

5. Solve any nwo of

e 9 fdl @ 9 T I - )
. (iv) Firewall ,.

(iii) Video Conferencing

@ Define 8:%52 network. Discuss m_mo r>z
MAN and WAN. : jﬂ@@d B] G
FRER Acad @ YR %@f i % LaN, | @) E-mail
MANTG WAN @ 41 91881 % | (iiy MODEM |

‘ : e ST | wm (i) Video Conferencing

(b) Explain the following :
(iv) Firewall

(i) Internet
(ii) Search Engine . |
(iii) Web Browser | Y
(iv) Virus |
() Internet |
(ii) Search Engine
(iii) Web Browser

(iv) Virys
annib1 dhAcNNV
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2000177(037)

3 Dip. in Engg. (First Sem‘este'r)! il
EXAMINATION Aprll-May, 2024
(Scheme NITTTR)

(Branch Mechamcal Chem, Metallurgy, ,

Mining, I & FS & Lat.. ITI)
ENGINEERING DRAVVING

Time : Iﬁree %ours] g [Maxzmum Marlcs' 70
S [Mzmmum Pass Marks : 25

Note : Attempt all questlons In case of any doubt or
dispute the . English version question ' should be
treated as final. Use of first angle pI‘OJCCthn
method. Assume suitable dimension if missing. |

W W T AR R e @ e
Taare 21 Refdy % ofoh 1 @ wemr ) sifm A

ST $W Fi wdn R wr sw i

'Wﬁﬁwﬁﬁaﬁaﬁaﬁﬁqﬁﬁm
Hﬂﬁﬁﬁﬂ?ﬁﬁ%‘l e

P.T.O. =




.@ What are
: at are the 1y
‘0 systems of |y
Placin

(b)

(©)

[2]

on .
a Q—.mﬁ::@ ?

Hustrare
sketches, : ustrate Your ANswe,.
| o
S ™ A v
SR B Yy T Bl

"'(b) Define Hyperbola an

(3] 2000177(037)

g affaR &) @ Py R ferg .

R (K = m_m &) qert forera AR 4 Aex

@ B gl del lf i@ | 34 W 247 AR GARALl
el Ay | @R AT # UG Tb |

nces between ellipse and

(a) Give any [WO differe
2

- .. parabola.

_. _.&Qﬁ%%m%&ﬁ%ﬁﬂ,

d also write the name of

" methods to draw hyperbola. 2

(©). _Uami m:.oEvmw., with concentric circles .En?oa
where major axis..is 60 ‘mm and minor axis is
40 mm long. ‘ 6
e 60 PRl ol g o 40 AL o B
3. (@) Draw the projection of given point, if : 6
| ) . Point J.mm situated at 25 mm above the H.P.

and 30 mm behind the V. P.

(iv) Point ‘B’ situated at 45 mm below the H.P.
and 35 mm behind the V. P.



(b)

[4] .2000177(037)

wdﬂmw.ﬁ_ﬁﬂﬁﬁ,%“

@ fig <A’ HP. ® S 25 il W Rud g

AR v.p. @ 30 fr. 09 R

(i) mwnwv.m.w@ﬁag.ﬁmﬁw% A

v.P. @ 35 frll. 9 7|

‘A line AB, 65 mm long, has its end A 20 mm
above the H. P. and 25 mm.in front of the V. P. -

The end B is 40 mm above the H. P. and 65 mm

“in front of the V. P. Draw the projections of AB

and show its mnoznmmo:m.,imﬁ the H. P. and

- the V.P. ~ . . .6

.,Am_v

@ Y@ AB, 65 Pl widl, Rt RRT A, H.P.
3 20 il o 3 iR 25 el V. P B T
RRT B HLP. ¥ 40 PRl S ¥ 3R 65 el
v.p. & Gl AB & 38U €ifatl H. P CIN
<.w.@.ﬁﬂw@ﬁmﬂm.mﬁm@_ .

Give four. differences between First. Angle

Projection method and Third Angle w@..onmos
method. 2

H AR 3R g

(b)

(©

[5] 2000177(037)

Name the different types of solids of revolution. 2

uRmAYr ol & R YR @ M qaTRy |

Draw the projections of a cylinder 75 mm
. diameter and 100 mm long, lying on the ground

with its axis inclined at 30° to V. P. and parallel
to the ground. 10

_ﬁﬁmﬁdﬁ&aaw@.%aog.

oS 2, WP, W Y@l 3 T4 g6 aE VP R
L _woo,ﬁ&%w%mw.%ﬁma&wﬁﬁﬂ

Or

(arera)

Draw the front view and top view of the given

. figure. All dimensions are in mm. .

& ¢ ol @ wE g@ o 9N o
ﬂﬁ_%ﬁﬂ@%mm_




3.

() [Explainabou

?v Draw the 1s0

6.

4

(61

i @A @
P R

of base wao

. resting on
TR S 30
qeoria e 9t
 IER W H

(@) Explain any four

(i) Rotate
(ii) Scale
(iii) - Trim
(iv) Extend

t isometric scale in short w

Boq_o view of a hexa

30 mm and axis length 60 mm that is

2000177(037)

ith figure.

pA

frx wla LR

H.P. on its base.

E&%%mﬁ&%@& 3

agonal 3:2:&.

10

%ﬁ%%

p. | @ 8l

from the following commands -

8

()

(7]

(i) @
) D00177(037)

iiiy fem
(iv) UHIcs
v) iy

Draw a circle by fyy diff:
eren

AutoCAD drawing

t methods yseq in
AutoCAD $ET ¥ : &
. SR WIE 2 Fomam aiet 4

- N9 AR

’ ~===. o
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~ 2000173(037)

~ Dip. in. Engg (Fn'st Semester)
EXAMINATION Aprll—May, 2024

(Scheme NITTTR)

(Braneh Chem, Mecll Metallurgy,

Mmmg, I& FS & Lat ITI)
APPLIED MECHANICS '

Time : Three Hours] o - [Maxlmum Mark;s' 70
‘ [Mzmmum Pass Marks : 25
Note : All questnons are compulsory, unless mentloned

otherwise. In case of any doubt or dlspute Engllsh |

version questjon should be lreated as final,

WA T o 2, mwﬁsmmmm-'

-_ﬁl@ﬁlﬁ»ﬂﬂwﬁw$mmﬁmaﬁm
ﬁemﬁwzsmmmwmm "

P.T.O,



[2) , I
. . . ,
czs,lm Mooc,_wuaud ,. [3] 38:&83
| - Peferfae @ ufemfia 2
(@) Defipe the fo) c (i) e AR T T
N 0 . ' < . .
0 Ki OWing . o (i) IR e 597
H b ¢ } » ’ . .
(ii Cmatics . AR 3 ! (b) Find the moment of inertia of a T-section with
’ ) _Oov_m - - o flange as 150 mm * 50 mm and web as 150 mm
nar fore
Q:v —..m. , - am " e . 50 mam about X-X and Y-Y-axes through the
: w ow?mmzﬁo owwo_:_wm L4 BT reils m_ _ centre of gravity of the section. 8
—_— S ; : B [ P 3 A=
Preafifee ot ot oy | Aipaiidi AR
‘ _ “ Db b0 ‘ = @ X-X 3R Y-Y-3i 2 AT
R - foTRT B 150 frfy x 50 e, @i 39 150 AL

(iii) m&&@mﬂﬂw_ﬁ , . .
(b) State and prove Lami’s n..oowmhd.\ _ ) "(c) Find the moment 0O
iﬁﬁg@.@d%@ﬁ%&_ o R ST shown in below figure ab
or kit

(s7era)

(c) Explain law of Polygon of forces. o ;

i @ T P A W |
. UNIT—IT

(GH1E—11) il 490 _. 

. (a) Define the following: - L . ,
(iy Centroid and contr of gravity . |

f inertia of a hollow section
out an axis passing

through its centre of gravity.
i . 200 mm it

R V1
e

100 mm

W gog

100 Oarallel nxls theorem



[4]
W R 17 R 3 R

STt S @iy |

— P— NQO mm

Ngsasud
J
T U% @) s o

mdl !
aisqﬂ@ﬁig%ﬁﬂ%qa
LISy

100 mm

- (@) Define the following :

(1)  Angle of friction

(i) - Coefficient of frictjon
(iii) Angle of repose |

| (iv) ~Limiting friction

il 00¢

1)

(b)

[5] 2000173(037) .

Ryl @1 uffaad @I

iy advr @I

(ify & U

(iii) @a_ﬂ_.%

(iv) ST T

A body resting on a rough horizonta! plane,
0° to the

required a v:: of 180 N inclined at 3

plane hcmﬁ to move it. It was found that 2 push of

220 N inclined at 30° to the ﬁ_man just moved the

U.Qm::m:m the weight of the body and
8

body.

soefficient of friction.

ﬁ%%gﬁﬁ?zﬁéma@

.adﬂwﬂwﬂw%@ammawooﬁw%mﬁ

__ Amozag%%%?ﬁg

Qmﬁﬁm%%mooﬂm&mﬂ@zﬂ

gﬁﬁﬁ@%w%@ﬂﬂm%

P.T. O.



4.

(@ Write g
and ..
explain in brief the Newto
n’s laws of

[6] .
- 200017
Or 3(037)

(3pera)

_Bm on g HOCMLH

ro:No
ntal plan
plane :ms:o a coefficient of fii
:o:os as

.

- move the b i
ody, while acting at an ang]
ngle of 25°

300 :

MMMM%%M@W_ % 3 o1 TR
= g fis ® S ooy o
feetr e 2
UNIT—1v
FPE—Iv)

motion.
4

T E A G Pt @y
AT | T ferfey s

by A wheel increa

©)

[7 | No@gﬂu\ﬁcuwv
ses its speed from 45 r.p.m. 10
Find (1) - angular

39 seconds.’
(ii) number of

90 r.pan. in

acceleration of the wheel, and

revolution made by the wheel in these
30 seconds. : 8
@ dfean oo ofy 30 GHe 4 45 B ARG
‘mo%&ﬁﬁéw_ﬂa%s%wﬁ
iRy R, %A__vﬁs@aﬂ%wma%
1§ T B G

Or
(@) -

the top of a tower 50 m

another stone is thrown
er with 2

A stone is m.nowvmm W@B
high. At Em same time;
-the foot of the tOW

ypwards from
When and where the two

" velocity of 25 m/s.

mﬁomom cross each other ?

ﬂéw.%«_ﬁ

wm&%\ﬁaﬁaﬂ@%%
w.ﬂa%ﬂ%aﬂ&ﬁz@ﬁmi

P.T.O.



[8]
03>
UNIT—V (032)

(F@R—v)
5. (a) Define the following :
(i) Indicated power
(i) Brake power
(i) Efficiency of an engine

(iv) Work done

(ii)) 3517 BT ey
(b)) Alo
: comoti :
0 o ve and train together hag
and tractjve resistanc ~m mass of
¢ 100 N
NN per

tonne. If the ra
s :
i 1 move up a pr
m.m&m
of 1 in

HNM &
H

power of th
e _OnoSo:.Sw. Also fi
Ind the g
peed,

~OOO~= . ce
0 a
tive. nd power of the

©

‘g A @1 qor 400 e R,

[9]
g @b e el e 200 €7 3R
rfor BRRIEr 100 z,%ﬁw_umwuwm.m@&
n@ﬁmﬁ%ﬁ%&%ﬁ@mﬁgﬁmﬂ
ﬁﬁ%w%ﬁﬁ%%m%%@fﬁ
A @ I f5 YTl e @ F
ﬂsn@%%g@aéﬁ@ﬁﬂmwaﬁ
%%ﬁ%ﬁ%w_
or
(arerd)

it 1is running ON a

o weight 400 tonne
rest and attains 2

A trai
roaNoﬁm_. rail. It starts from
m / hour in 5 rainutes. If maomo:m_

velocity of 43 k
resistance 18 50 N/tonne, then find out the power

.@w_vﬁ%a,%g@@ﬁ fr ¢
myﬂmw&@&.\nﬁ%%ﬁﬂ@%?
Ffe =¥u R 50 N/ 3 7 goF @ AP

o dieIg !

P.T.O."



[10] 2000173(037)
UNIT—VI
(F@R—VI)
Amv Uomo: be the following : 5

.8 Simple gear train

(i) Compound gear train

(iii) Mechanical advantage

_* (iv) Velocity ratio

. (v) HERT qE

(®)

) mmEEn machine

Eﬂ@@m%ﬂr%@a

‘8 ﬁmﬂs?ﬂwm

(i) PUNS Eﬁ e
(iii) TP am
(iv) 9T U

What load can be lifted by an effort of 120 N, if
the <m_oo=w ratio is 18 and effi o_osow of the
machine at this load is 60% ? Ummans_:a the law -
om. the machine, if it is observéd that an effort of
200 N is required to lift a load of 2600 N and find
ﬂrm wm.o: required to run the machine R a load of

3_% . 10

2000173(037)

2000173(037)
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Dip. in Engg. (First Semester)
EXAMINATION, April-May, 2024
(Scheme : NITT TR)
(Branch : CiviUEleétrical/EEE/Nﬁning &
Mine Surveying/ET&T/
Instru'me'ntation/CSE/IT/AIML) | |
APPLIED PHYSICS

[ Maximum Marks : 70
[Minimum Pass Marks : 25

Time : Three Hours |

Note : All questions are compulsory, unless mentioned
otherwise. In case of any doubt or dispute the

English version question should be treated as final.

o vw afad ¥ oe qe 5 o Tad fAudd 9
- foran @) fll N weR @ wiow r Rare @ Rafy
3 ool W91 @ 9 Y ot AT W)

P.T.O.




1. (a) Using &Bosmmosm_.mmm_.wmmm convert 1 N force to

[2] - 2000174(91g)

UNIT—I -

i)

7

w@ﬁ%ﬁgﬂéﬂwﬂ_ﬁﬂ
e 4 et 1

&\nam.

(b) . Define relative  erTor, absolute . error - and

. percernitage error. What is the relation mBosm
them ? ™ 7

ﬁa_@m% w_ﬂm%ﬁaﬂam@ﬂ‘
%ﬂaﬂ%ﬂfﬁ%ﬂw@aﬁwqﬂﬂa&u

g7 ;

R or

| (areran)
2 : s . » ’ i ) : . i m
. (a) Check the ooﬁnﬁ:amm of the.relation v = W
rm_sm a::oum_o:m_ mnm_u\m_m, where v’ is the
‘E’ is the

“velocity of sound waves in a Bm&::ﬁ

: n_mm:o_a. of the Eon::s an
the medium. b . 7

mﬁaﬂﬂ%ﬁaﬂa% ,ﬁ%.

g%%ﬂ%@d e o Bl aem
 fy el @7 9T E, B B WA 1 YRe e

o aﬁmﬁ%w—

d ‘p’ _m&:o %:&Q of

[3] 2000174(015)

(b) Differentiate between fundamental and derived
quantitics by giving examples. State seven
fundamental quantities used in S.I. system with
their units. Also give three advantages of
S.1. system. [
A&ﬁﬁ»jﬁimqﬁéﬁ?ﬁ%ﬁ&
PG | T, &8, vl # gga A ﬂ&ﬁ@s
ﬁﬁ&ﬁa?@fgmhqﬁ o, vafa &
= am faRag |

UNIT—II

(sPTe—11)

(a) Derive a relation for excess pressure inside a

liquid drop. 5
AR P AR W ,ﬁ@ﬁ foe & e
pifeIg | ]

LXS

(b) Steel is more elastic than rubber. Why ? 4

e IR B e o e 21 7 ?

(c) What is the effect of altitude on the value of

. wonm_ngoz due to gravity ? 5
. AT 3 TR SR 91 70 T wSal
(arera)

(a) What are cohesive and adhesive forces ? Water :

drops stick to the walls of glass tumbler whereas
mercury does not. Give reasons. 5

P.T.O.



(b)

;a@ﬁﬁ%ﬁ%ﬁﬂmﬁwmﬂﬂ

(©)

(@

(b)

[4] 2000174(015)

T AR s 99 @ € 2 T A R ai
@ o9 ¥ faue Rl 8 weie R B4 T
Feaedt | SROT wargd |

| Why does a cyclist bend himself in the direction

of turn while turning ? Give reasons. . 4

T ol &, 7 ? BRY qard |

Differentiate between streamline and turbulent

flow. What is Reynolds’ number and what is its
significance ? - . - . 5

ﬁ%ﬁaﬁw@ﬂﬁwwgﬂﬁm
%@fﬁwﬂﬁgﬂmﬁmﬁﬁﬁ
%ﬁ%

UNIT—III

(g@mé—m)

What is mirage ? Explain its formation by
sketching a ray diagram. . 4

%@ﬁm&ﬂmwﬂﬁﬁ%wﬂs%ﬁ
iR A | Pl v

What is the relation between refractive index,
angle of prism and angle of minimum deviation
for a prism ? Derive the relevant formula. 7

st & wered & emadis, 7 & F o
=y e BT @ G 8 ? s
I~ BT |

(b)

)

(5] 2000174(015)

A convex lens of focal length 6 cm and a concave
lens of focal length 10 cm are placed in contact.
Calculate the focal length of the combination.
What will be the nature of lens formed by
combination ? 3

Ud 6 A, I GO BT IAA o aAT 10 T
WG GO @l Fadd ofF e H W W 2 39
W B BB G4 T BIG | FAGA A
o DT ygfa AT B ?
, Or
(sroren)

Draw a neat ray diagram of simple microscope.
Write its principle and working process. Give the
formula for its magnifying power when image is
formed at least distance of distinct vision. 7

W el 31 W Wi g | s
fgra v erfef foey| swa amad awar &
forv @1 Ty e gfafds we i @ <
T8 R T |

Differentiate between pure and impure spectrum

-with the help of a diagram. 3

6 WIS Wagd § @t @ gl |
IR W B |

The refractive index of water and glass with

: .. 4 3 .
respect to air 1s 3 and S respectively. Calculate

the refractive index of glass with respect to water.

1

P.T.0.



(a)

(b)

©

[6] | 2000174(015)

A D WO TN B B oD

BT |
UNIT—IV
(FPR—1V)

What do you mean by equipotential surface ?
Give the chief characteristics of this surface. -5

%ﬂ@%ﬁﬂ%w\wﬁﬁa
v T feried | |

State Coulomb’s law in electrostatics. Uomzo
1 Coulomb charge on the basis of it. 4

?E@ma%%ﬁg%_
ﬁaﬁzﬁ@%%ﬂi%

BN |

‘What is meant by _iaBm_ Rm_mﬁsoo cm a cell ?
How can you %Sizno E_SB& Emagw of a

cell using noﬁ:soaﬂa_. ? Draw sam.” o:.o==
diagram for this. 5

ﬂm%%%@maﬂﬂﬁ%wﬂa&

%%@gﬁﬁgﬂ?%%

o fpan o edl § 7 g0 {16 Ww
R T3 |

; (71 2000174(015)

Or

(srer)

Amv Derive a relation between Intensity of Electric
field and Potential gradient. What do you
understand by the term ‘potential gradient’ 2 5

E@mﬁ%%ﬂmﬁ@ﬁﬁﬂmﬁ&
_.Eﬁm%_ﬁﬁﬁaﬂﬂﬁ@%ﬁ
w7

® State Wheatstone w:amo ﬁn:o:u_o 4

%m&ﬂ@m@@a@@f

 (¢) Define specific resistance. What is the relation -

between resistance and specific resistance ? Also
give the units of resistance and specific
: Rm_mﬂmzom. ; 5

fifie vRRw @ aRafia @il TRk 3k

- faftre wRRe § T W § 7 W R

3k Riftre 7Ry @ 7o g
% UNIT—V

(Em—V)

(a) Describe the principle, construction and working

of Coolidge tube for X-rays production. 7
Rrgre, wival o BRI 31 0T Afe




[8] 2000174(015)

(b) Differentiate between spontaneous and. stimulated
emission  with dlagram What is population
inversion in laser action ? 7

WO Sl AR whfg Soaetd A afE e
WE BT | R ﬁmﬁ mm oA Rl
_%? ‘-\_-
Or
. (3¥r)

(a) Explam any one method . of production of

ultrasonics on the fol!owmg pomts with a neat
diagram: 96 ~ =
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(i) . Construction ...
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(b) -What is Photoelectric- Fl‘tect ? Wh
of photoelectric emission ?
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at are the laws




